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Addition (Horizontal)

Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

2,288 + 20 =

4,028 + 288 =

9,606 + 5,735 =

B+2=

927 + 408 =

93+32=

2+1=

4,117 + 2,596 =

61+ 29 =

462 + 69 =

992 + 357 =

735+ 192 =

6,150 + 24 =

7,213+ 1,482 =

95+ 60 =

10.

11.

12.

13.

14.

15.

Answers
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Addition (Horizontal) Name:. Answer Key
Solve each problem. Answers
1) -
2288+ 20 2,308 ) 2308
2) 4028+288= 4,316 2. 4,316
3. 15,341
3) 9606+5735= 15341
4 97
4 -
) 95+ 2 97 . 1335
5 927+408= 1,335 6. 125
. 23
6) 93+32= 125
8. 6,713
7 —_
) 22+1= 23 . 90
8) 4117+2596= 6713 10 231
1 1,349
9 61+29= 90
12 927
10) 462 + 69 = 531 13, 6,174
11) 992+357= 1,349 . 8,695
15, 155
12) 735+192= 927
13) 6,150+24= 6,174
14) 7213+1,482= 8695
15 95+60= 155
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Addition (Horizontal)

Name:

Solve each problem.

Answers

{

97 6,713 15,341
23 125 90

531
4,316

2,308
1,335 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

2,288+ 20 =

4,028 + 288 =

9,606 + 5,735 =

O5+2=

927 + 408 =

93+32=

2+1=

4,117 + 2,596 =

61+ 29 =

462 + 69 =

10.

C
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